[ pull of goverp parameter |

res

N (X -0.04] 3
1 = . Snstant _DABELE
101 107 (g B
: 5 "
- - : g(gﬁgzvm r gé%
- - gma__ .'1
102 1072 ey T, “%
: : o 8%‘1
H 3 i
107E 102 E- (Wl | S
10'4§ 10'45— """"""" """
o J..c: . : y + + . ’ o J..4; L v I
I [ooicoimon @ dg s 4 mem IS E o St Sl SO B
Y T S . S SOt SR SO SO ¢ M :
[ o Cuy
0.8f--se--- ‘:“Ar'A 09 - s AR R A
-10-8 =6 4 2 0 2 4 6 8 10 0808 =6 -4 2 0 2 4 6 8 10
= §§MEISE§:Z-’F§EE:§§§H INewT |
[ pull of @parameter | [ pull of 6 parameter |

107}

1072

1073

- - - - eerS 0.

L eLakee
L N

A

0=

8 -6 -4

6 8 10

0 2 4

_2'

[ pull of dxy parameter

107}

1072

Ratio
o

0.8

10 -8 -6

107}

1072

1073

[ pull of dz parameter

107}

1072

Ratio
P

o o
P

08 6 -4

Aca . h

=20 2

476 8 10



	Contents
	Page 1


